

$$\lim_{x \rightarrow -1} \frac{\sqrt{x+3} - \sqrt{x+2}}{1+\sqrt{x}} \times \frac{1+\sqrt{x}}{1+\sqrt{x}} \times \frac{r}{r} = \lim_{x \rightarrow -1} \frac{(x+3) - (x+2) \times r}{r \times (1+x)} = \frac{-x-2}{r+x}$$

HOP $\left[\frac{-r}{r} \right]$ ✓

9

$$\lim_{x \rightarrow 1} \frac{x - \sqrt{x} + 2}{x - \sqrt{x+1}} = \frac{0}{0} \text{ form}$$

$$\lim_{x \rightarrow 1} \frac{x - \sqrt{\frac{1}{x}x - \frac{1}{x}}}{x - (\frac{1}{x})(x+1)^{-\frac{1}{2}} \times r} = -1/r \text{ ✓}$$

9

$$\lim_{x \rightarrow 0} \frac{a + \sqrt{bx+c}}{x} = \frac{1}{2} \quad a/b$$

$$a + \sqrt{c} = 0 \rightarrow a = -\sqrt{c}$$

$$\frac{-\sqrt{c} + \sqrt{bx+c}}{x} \times \frac{r}{r} \rightarrow \frac{bx+c-c}{r\sqrt{c} \times r} = \frac{b}{r\sqrt{c}} = \frac{1}{2r} \rightarrow r = \sqrt{c} \rightarrow b = \frac{r^2}{c}$$

$$\frac{ab}{c} \rightarrow \frac{(-\sqrt{c})(\frac{r^2}{c})}{r} = -\frac{1}{r} \text{ ✓}$$

9

$$\lim_{x \rightarrow -r} \frac{f + K \left[\frac{x}{r} \right]}{\sin x} = +\infty \quad [-K]?$$

$$y = \frac{x}{r} \text{ where } x \rightarrow (-r)^+ \Rightarrow \left[\frac{x}{r} \right] \rightarrow \left[\frac{-r}{r} \right] = -1$$

$$\frac{f - rK}{\sin(-r)^+ = \sin 0^+ > 0} = +\infty \quad K < r \rightarrow [-K] = -r \text{ ✓}$$

9

$$\lim_{n \rightarrow \infty} \frac{b\sqrt{r+\sqrt{n}} - rb}{an-b} = \frac{-\infty}{-\infty} \Rightarrow b = \Lambda a$$

$$\frac{b = \Lambda a}{\text{where}} \rightarrow \lim_{n \rightarrow \infty} \frac{\Lambda a (\sqrt{r+\sqrt{n}} - r)}{(an - \Lambda a)} \times \frac{r}{r} = \lim_{n \rightarrow \infty} \frac{\Lambda a (\sqrt{n} - r)}{a(n - \Lambda)(r)} \times \frac{r}{r} = \lim_{n \rightarrow \infty} \frac{r(n - \Lambda)}{(n - \Lambda)(r)} = \frac{1}{r} \text{ ✓}$$

10